5B GRAMMAR present continuous: be + verb + -ing

. Complete the sentences with the verb in brackets in the present continuous.
Use contractions where possible.

1 A  What's that noise?
B It's our neighbour.
A Not again! What '’s he doing (do) now?
B He? (wash) his car and he
2 (listen) to the radio.
A What? At 7.30 on a Sunday morning! Why*___ he
(do) it now?
B |don't know.
A What® you (do)?
B 1° (get) up. | can’t sleep with this noise!
2 A7 you the match (watch)?
B Of course we are.
A What? (happen)?
B We? (win) 1-0, but we
i (not play) very well. Why "
you (not watch) the match?
A 17 (work) and my boss
12 (watch) me.




